	Revelry Event Designers		IN-0002322				
R	Revelry Event Designers 3604 Medford St. Los Angeles, CA 90063 (323) 263-1657			Mindy Weiss 232 South Beverly Drive Suite 200 Beverly Hills, CA CA			
0/25/2019 11:00 AM Install Day 1 PO: 0/26/2019 09:00 AM Install Day 2 Shipping Address: 0/26/2019 05:00 PM Event Bel Air Hotel		Invoice Date: Due Date: Upon Receipt			ot		
	26/2019 05:00 PM Event Bel Air Hotel 27/2019 09:00 AM Strike		Salesperson: Angela Murelli				
Description			Qtty	Price		Total	
Additions							
	Bar - Las Vegas - Plain Go	old Folding Bar	2	\$625.00	Т	\$1,250.00	
	Escort Wall Panel 8'H x 6' Rosendo to apply decal; MWPC		1	\$1,750.00	Т	\$1,750.00	
	Small Shield Covers - Ivor	y Lycra	50	\$4.00	Т	\$200.00	
	Ruching - Ivory for 3 chandeliers		1	\$0.00	Т	\$0.00	
	Mirror - Oscar - Wood Fra gold frame	me 46" X 76"	1	\$400.00	Т	\$400.00	
				Total Additi	ons	\$3,600.00	
Cocktails							
	Ottoman Pod 18"D black velvet or dupioni		6	\$60.00	т	\$360.00	
	Accent Pillows for existing furniture in green, b	lack, white velvets or dupioni	10	\$25.00	Т	\$250.00	
				Total Cocktails \$		\$610.00	
Entrance Tent							
	Flat Ceiling for 10' x 10' Champagne Velvet or Suede		1	\$650.00	Т	\$650.00	
	Interior Perimeter Drape f (No Pleat) Champagne Velvet o		1	\$1,150.00	Т	\$1,150.00	
	Exterior Perimeter Drape (No Pleat) Champagne Velvet o		1	\$1,150.00	Т	\$1,150.00	
	Custom Front Awning sage green velvet with antique g	gold hardware	1	\$3,500.00	Т	\$3,500.00	
Â	Versailles Sconce - Antiq	Je	2	\$175.00	Т	\$350.00	

0

Description		Qtty	Price		Total
	Versailles Antique Chandelier - Large	1	\$300.00	Т	\$300.00
	Tuscany Display Table - Small 42"D x 40"H; Mahogany	1	\$300.00	Т	\$300.00
			Total Entrance T	ent	\$7,400.00
Reception Tent					
	Dance Floor 24' x 16' Champagne Matte Color	1	\$3,000.00	Т	\$3,000.00
	Ceiling Cap for 40' x 95' Canopy Tent champagne color to match the exterior walls	1	\$6,000.00	Т	\$6,000.00
	Drape for Front Wall 40' x 10'H champagne velvet or suede for the front exterior of the main tent	1	\$1,250.00	Т	\$1,250.00
	Partial Ceiling Drape 8'W flat (no pleat) ceiling in Ivory chiffon	1	\$6,000.00	Т	\$6,000.00
	Partial Ceiling Drape for 8'x 17' Canopy ivory sheer	1	\$950.00	Т	\$950.00
	Interior Perimeter Draping & Pullbacks Champagne Velvet Perimeter Pullbacks 8'W	1	\$6,950.00	Т	\$6,950.00
	Interior Perimeter Valance - Champagne	1	\$1,250.00	Т	\$1,250.00
\bigotimes	Moscow Circles Panel 4' x 12'H champagne color	6	\$575.00	Т	\$3,450.00
	Tiffany Stage Front 8' x 24"H mahogany	3	\$300.00	Т	\$900.00
	London Framed Mirror Bar 6'L mahogany bar with wallpaper decal image (no mirror)	2	\$750.00	Т	\$1,500.00
	Moscow Barback - Gold	3	\$300.00	Т	\$900.00
			Total Reception T	ent	\$32,150.00
After Party			Å0 500 00		A0 500 00
	Dance Floor 24' x 24' deep emerald green	1	\$3,500.00	Т	\$3,500.00
Statitute of	Las Vegas Sofa 8'L - Black	2	\$550.00	Т	\$1,100.00

Description		Qtty	Price		Total
	Straight Banquette - Black Channeled	6	\$450.00	Т	\$2,700.00
	New York Low Chair - Black	4	\$200.00	Т	\$800.00
	Balenciaga Coffee Table - Gold Leaf	2	\$250.00	Т	\$500.00
	Paris Coffee Table - Gold	6	\$250.00	Т	\$1,500.00
	Moscow Barback - Gold	3	\$300.00	Т	\$900.00
	Ottoman Pod 18"D Emerald Green and black velvet or dupioni	28	\$60.00	Т	\$1,680.00
	Accent Pillows emerald green, black, gold and white velvets or dupioni	24	\$25.00	Т	\$600.00
	New York Bar 6'L - Black flat fronts and sides; used as DJ Booth	1	\$650.00	Т	\$650.00
			Total After Par	rty	\$13,930.00
Services					
	Custom Artwork hand painted design	1	\$10,500.00		\$10,500.00
	Installers: Install Friday	8	\$550.00		\$4,400.00
	Installers: Install Saturday	6	\$450.00		\$2,700.00
	Installers: Strike Sunday	8	\$450.00		\$3,600.00
	Trucking: 24'L	3	\$450.00		\$1,350.00
	Manager: Onsite	1	\$600.00		\$600.00
	Certificates: Flame Proofing	1	\$950.00		\$950.00
	Supplies: Misc	1	\$750.00		\$750.00
	Dance Floor: Labor & Delivery	1	\$850.00		\$850.00

Please make checks payable to Revelry, Inc.

Note: Prior to deliveries and pick-ups all invoices must be pay in full Please ready the contract and sign it PDF Generated on 11/08/2022 @ 07:22 AM PST Notes

Taxes (tax excempt):	\$0.00
Discounts:	(\$3,360.00)
Total:	\$80,030.00
Payments:	(\$80,030.00)
Balance:	\$0.00